
Rser=0.001

V1

60

Rser=0.01

V2

30

M1

BSZ520N15NS3

L1

1m

R5

1K

R6

2.2

B7

V=2.5 * V(UUU)

Rser=0.1

V7

PULSE(0 1.6 0 18u 2u 100n 200n)

U1

LT1713

Rser=0.01

V8

5

Rser=0.1

V9

SINE(0 1 50)

D1

RFN5TF8S
M2

BSZ520N15NS3

Rser=0.1

V3

PULSE(0 1.6 0 18u 2u 100n 200n)

U2

LT1713

Rser=0.01

V4

5

B6

V=2.5 * V(LLL)
R1

1k

R2

2.2

Rser=0.1
V6

PULSE(-1 +1 0 50n 50n 10m 20m)

Rser=0.1

V10

PULSE(-1 +1 10m 50n 50n 10m 20m)

S
1

S
W

S
2

S
W

B11

V=ABS{V(SINE)}

D2

RFN5TF8S

R3

0.1

U3

LT1013

Rser=0.01

V5

5

C2

22k

R4

1n

C3

100p

R7

1k

B12

V=ABS(V(amp))

R8

10

C1

10n

U4

LT1013

UUU LLL

S
IN

E

am
p

sineref

sineref

.tran 0 100m 0 startup

.model sw sw(ron=1m)

 ---  C:\LTspice_ZAPPER\LTspice\Sine wave current _16Arms.asc  --- 


